2023 T RARFEBRF IR 2023/05/14
Problem G. ZZ#t#1/E

BEKEN n MIENBEUTI] A =a1,a0,... a0, EX

F(A) = lrggécn((al&ag& - &ag) + (apr1 &agpo & - &ay))

Hp & RN 5HE -

AT LU TR 2 —IROTHE: M TIR i R 1<i<j<n, XHa; 5 a; BIMAE-
RETBL —IRTHE, F(A) iR -

Input

BEEAMREE - BTN D T FoRNREERAL . X TEENHEE:
FITRA—TEE n (2<n<10%), £RFF A FKE.

BATHAN n D a1, a0, a0, (0<a; <10%), FRGEMFI A

FAEFTEEEE n Z RN 100

Output

FHEIER L — 1T — B, BrREdEL RS F(A) BISOR(E -

Example
standard input standard output
3 7
6 3
654356 3
6
121122
5
11222
Note

TR —HEFIEIE, FTLHE ay T ag FFINEEH {6,5,4,6,5,3}, RGEFE LK =5, BT
F(A) = (6&5&4&6&5) + (3) =7+

AT HE ZHE IR, FTLASCH ap M oag BFIIZ {1,1,1,2,2,2}, RFERE k=3, SEBET
F(A) = (1&1&1)+ (2&2&2) = 3-

ST S RREIRR, THHT ORI, R k=2, BEEIT F(A) = (1&1) + (2&2&2) = 3.
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